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1. In which one of the following islands
of India is an active volcano found?

{a) Car Nicobar Island
{(b) Nancowry Island
{c) Barren Island

(d) Maya Bunder Island

2. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :

List{ List-II
{Pass) (State)
A. Zoji La Pass 1. Sikkim
B. Bara Lacha Pass 2. Uttarakhand
C. Jelep La Pass 3. Himachal Pradesh
D. Niti Pass 4, Jammu and
Kashmir
Code :
faj A B C D
4 1 3 2
(b} A B C D
2 3 1 4
(c) A B C D
4 3 1 2
(d) A B C D
2 1 3 4

3. Which one of the following longitudes
determines the Indian Standard
Time?

{a) 855°E
(b) 865°E
(c) 845°E
(d) 82-5°E

P-DE-A-J~HL/1A

2

4. Which one of the following is the

oldest mountain range in India?
{a) Himalayas
{b} Aravali

(c} Satpura.'' . . ‘.

(d) Nilgiri

5. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-I List-II

{River) (Tributary)
A. Brahmaputra 1. Musi
B. Krishna 2. Tawa
C. Narmada 3. Bhavani
D. Cauvery 4. Dikhow
Code :
fa) A B C D

4 2 1 3
(b) A B C D

4 1 2 3
fe) A B C D

3 2 1 4
{d) A B C D

3 1 2 4

6. Which one of the following lakes in

India has the
salinity?

highest water

(a} Dal

{b) Chilika
fcj Wular

{d} Sambhar
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1, frafefas 4 @ fom & wrdlg 9o d © 4. wig ® fafafes § 9 - o =y

| saTemgEt T T &7 Tefa At 872
(o) ¥R FwERET (@) Temrera
(b) A=l €9 (b} e
{d) Tt g9 (d) fwfift
2. -1 A g1 & wry gafem i ek 5. g1 B g1 % T AR B o
A AT T g ORI et % A2 Ry T gz & R
Wﬂﬁﬂ:: Bﬂ'{gﬁﬂi{:
-1 -1 |
-1 11
(= (@) | [ ] e\
A. <l o 9| 1. fufem A TR . e
B. ¥R A1 9 2. IWEUE AN 5. T
C. S @1 9™ 3. e wew C. T N~
D. i wm 4. v 3R weHR D @ 4 B
% _—
@@ A B C D
4 1 3 2 (a) 2 2 : g
) A B C D
2 3 1 4 (b) 2 113 g 3D
) A B C D
4 3 1 2 fc A B C D
3 2 1 4
(d A B € D
2 1 3 4 d A B <C D
3 1 2 4
3. fr=fofa ot § & *¥F-w1 & wrd
T g &) Pty s 27 6. wia A fxfaflga & @ s9-dt w a3
ST B! =0T A {7
fa) 855°E
(a) &
(b} 865" K (b) Ffer
fc] 845°E () T
(d) 82-5° E. | (d) TR
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7. Which one of the following pairs is
not correctly matched?

(a) .

(b}
(c)
(d)

River City
_Gomti Lucknow
‘Saryu Ayodhya
Alaknanda Badrinath
Narmada Satna

8. Which one of the following cities will

never get the vertical rays of the
sun?

(a)
(b)
{c]
(d)

Srinagar
Mumbai
Kolkata

Thiruvananthapuram

9. Which of the following diseases is
not caused by viruses?

(a)
(b)
{c)
(d)

Cholera
Chickenpox
Hepatitis

Measles

10. Which one of the following sequences
of the oil refineries of India as they

occur

from south to north is

correct?

(@}

(b)

(d)

Kochi~-Mangalore-Mumbai
—Kovyali

Koyali-Mumbai-Mangalore
-Kochi

Kochi~-Mumbai-Mangalore
~Koyali

Mangalore-Kochi~-Mumbai

—Koyali

P-DE-A-J-HL/1A
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11, Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
(Multipurpose (Hydel Power
River Project) Station)

A. Rihand 1. Hirakud
B. Gandak 2. Balmikinagar
C. Chambal 3. Pipri
D. Mahanadi 4. Kota
Code :
{(a} A B C D
3 4 2 1
(b) A B c D
i 2 4 3
) A°. B C D
3 2 4 1
(d A B cC D
1 4 2 3

12. Which one of the following States of
India is the largest producer of

lignite coal?
{a} Maharashtra
(b} Gujarat

{c) Madhya Pradesh

{d) Tamil Nadu

13. Which one of the following pairs is
not correctly matched?

National Park

{a) Kanha National
Park

(b} Sultanpur
National Park

{¢/ Ranthambore
National Park
{d} Bandipur

National Park

StudentSuvidha.in
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7. Feaffas % /@ ¥R-@1 = gw gafaa T8 11. -1 & gEh-11 & Wiy gafem il ok

27 Rl ¥ 12 R M gz w1 W e
T TR S g
A TS -1 Hf-11
“ (gstnia <& (wrerfaregy wie
() ikl aftairor) =)
fc) SATFT= WA A fa= 1. fgs
B. TS® 2. wreHifRTT
@) A C. = 3. fagh
| D. TEMd 4, w1
8. fimifun & 4 fom w5 w § af o .
-t eater et ww Ei? 2
fla@g A B C D
(a) AT 3 a4 2 1
k) T () A’ B C D
fc) RIS 1 2 4 3
g A B C D
@ T ' 3 2 4 1
o. Fiffan & & Ww-wm An Frpe % @A BooD
T T g 87 ‘
(@) & 12. ¥d ¥ frafefes 4 @ w1 & T
(b) BW T STATEE AR BT T IEE 37
- (a) TERY
fo) TEEE )
LA , (c) T WEW
(d) g

10. ¥Rd &% o Wys ddE ¥ el ‘
s A ] Fra-a1 T 9 B | Iw 13, fafefes gt & ¥ PF-w1 w gifea

1 3 R O & ww A T o 37 &7
(@) Ffa-eiR-grd-Rmh T T T
. (@) T UEHA Uk e T3
FRTA e —hi

@ _ (b) YA T I sl
(c) FE—gr—ei-rch () i T TR

(d) e | (d) g T T FAlH
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14. Which one of the following oil fields
of India is the oldest and still
producing oil?

15.

(a) Bombay High
(b) Digboi

fc} Ankleshwar
{d) Naharkatiya

The shaded area in the map given
above is the major producer of
which one of the following?

{faj Cotton

(b} Groundnut
{c} Wheat

fd) Mustard

16. Which one of the following States is

the largest producer of black pepper
in India?

{(a} Tamil Nadu

(b) Kerala

(c) Karnataka

(d) Andhra Pradesh

17. The Buddha delivered his first

sermon, known as Turning of the
wheel of law’ at

(a) Sanchi
(b} Sarnath
{c} Sravasti

(d} Bodh Gaya

18. Which one of the following is the

longest National Highway in India?
fa) NH 2

(b} NH 7

{cc NH 8

(d) NH 31

19. In human beings, the opening of the

stomach into the small intestine is
called

{a}) caecum

{b} ileum

{c) oesophagus
(d) pylorus

20. In which one of the following places

is the Forest Survey of India {FSI), a
national organization engaged in

“forest cover mapping, forest

inventory and training in the field of
remote sensing and GIS, located?

faj Dehradun
(b} Itanagar

fc) Ahmedabad
(d) Aizawl

P-DE-A-J-HL/1A 6
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14. w@ & fefafgs do-& & | SE-a 17. W g 3 ‘e 9% TEAA & ¥ H 9|

U galfter W 2 w ol oft oF T w9y uEigew Ty wurr wy fen?
mfmw%?’ (o) i
s -
PAC i |
() sEd f")
@) ~ (d) e

18. Witd # Fafefiaa 4 ] s9-11 ™ o=
T TEE T (NH) 87

(a) NH 2

15.

(b) NH 7
{c) NH 8

{dj NH 31

19, 9rEl # i@ #1 B fa § gad aen 9@

T FHEAT 57
. (@) IvgH (HFw)
Fr fu w oaefam A o &
fretafias § 3 o0 & W o1 SO (b) R
27 (c) TTEAR (SET)
{a) &IH (d) trrsaﬁw
(b) T
fc) T 20. fiefafas & @ foog @& ®A W@, T
(d) wEt Iroored AFfasw, &1 @l gt T gt
Taeq R GIS & &3 # witeror 7 enft
16, W@ # frafufe § ¥ F9-m T T T den, a9 gl (FSI)
et fored 1 i e 27 maferd 27
(a) dffETg (a) BT
(b) FA (b) TR
(c) FicHh (c) ITTHRTETR
{d} Y T {d) S IEE
P-DE-A-J-HL/1A - (P.T.O.
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21. The Veerapa Moily Commission in its

report on Administrative Reforms
~ among other aspects has suggested

24. Match List-1 with List-1I and select

the correct answer using the code
given below the Lists :

doing away with which one of the

following pairs of Articles of the List-1 List-]T
Constitution of India? {Year] (UN’s International Year)
A, 2002 1. Int i Y f
{a) Articles 305 and 306 n emat}onal car o
Ecotourism
(b} Articles 307 and 308 B. 2004 2. International Year of

Microcredit
fc} Articles 308 and 309

C. 2005 3. International Year of
(d) Articles 310 and 311 Planet Earth
D. 2008 4. International Year of

Struggle against Slavery
22. Who among the following has and its abolition

created world record in the men’s

100 metres sprint event at 2008 Code :
Olympic Games?
i A B C D
U Bolt (a}
() sain Bo A . ;
{b) Churandy Martina b A B C 5
{c) Asafa Powell 1 4 2 3
(c)

fd) Walter Dix

w >
SR
>0
~ g

(d}

—
N o
&0
w g

23. What does Fuwa, the Official Mascot
of the 2008 Olympic Games,
contain?

25. Which one of the following pairs is

(a} Four popular animals of China not correctly matched?

and the Olympic Flame

Person Bank
{b) Five popular animals of China {a) O. P. Bhatt SBI
and the map of China C
(b} K. V. Kamath ICIC!

(c) Five popular animals of China

fc} Aditya Puri HDFC

(d} Four popular animals of China
and the world map {d) Vikram Pandit IDBI

P-DE-A-J-HL/1A 8
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21, yWEfE gyl W don et smam A 24. -1 = -1 F |y gifae i et

oAt e & 31 qRqalt & WY vRd % gfudt & 2 Re mu g2 w1 @ = ad
faam & Feafofeas sg=os-gmi 7 @ IR g
g & srg=de-gm H TER F IR
fear? -1 geft-11
(=) (w7 oy =
(o) TT=E 305 3 306 g ad)
(b) 313%3307@'{308 A. 2002 1. I=UE ggimieq
. (§Fieftsm) =
(c) ¥1T=3% 308 31K 309 B. 2004 2. IR e
(d) T35 310 3R 311 (wrziskise) ad
C. 2005 3. TAIEE WE (W
aref) ad
22, 2008 Hafms @l § Fefifa § @ :
e 781 % 100 e e e I P PN\ ?ﬁmm
Hifdam wanfig fF? e
' FigE T
(a) 387 A2 .
FE ¢
(b) Fu=E wid @@ A B C D
3 4 2 1
fc) TTEGY gide
M} A B C D
(d) Tz fe=q 1 4 2 3
cf A°- B C D
3 2 4 1
23. 2008 & M+ wal F enfuwlis [d) A B C D
YN G (Fuwa) § 391 eTafde 27 1 2 4 3

(@ I F W b W e 25. frafefen 7o & @ B w gk

SES T T &7
(b) % Wi At s ok I\ W =afn &=
LIgiEe {a) 3o o Hg THe dto HTgo
: - {b) aio Ho HHY HATgo ‘{-‘ﬂ’o HEo
i (c) < % ura ewiE g o oT5o
(@) <1 % =R TRt S I fe- (c} anfesr gh o Fo Tho Hio
‘ MR (d) forsem afea amge o dto Mo
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26. Which one of the following pairs is
not correctly matched?

Nobel Laureate Discipline
of 2008

{a} Martti Ahtisaari Peace

(b} Yoichiro Nambu Physics

(c) Jean-Marie Literature
Gustave Le Clézio

(d) Osamu Physiology
Shimomura

27. Match List-I with List-1I and select
the correct answer using the code
given below the Lists :

List-I List-IT
{Player) {Sport)
A. Gagan Narang 1. Archery
B. Akhil Kumar 2. Swimming
C. Manga! Singh 3. Boxing
Champia

D. Virdhawal Khade 4. Rifle Shooting

Code :
fal A B C D
4 1 3 2

) A B C D

fc) A B C D
4 3 1 2
(di A B C D
2 1 3 4

P-DE-A-J-HL/1A
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28. Consider the following statements
about IAEA :

1. It was set up as the world’s
Atoms for Peace organization in
1957.

2. The IAEA  Secretariat is
headquartered at the Vienna
International Centre in Vienna,
Austria.

3. In terms of its Statute, the
IAEA reports annually to the
UN General Assembly.

Which of the statements given
above is/are correct?

fa) 1,2 and 3
(bj 1 only

{c) 2 and 3 only
(d) 3 only

29, Who among the following has been
awarded the Officer of the Legion
of Honour, the highest civilian
distinction of the Government of
France?

(a) N. R. Narayana Murthy
(b} Ratan Tata

fc} K. M. Birla

(d) Mukesh Ambani

30. Madhya Pradesh shares its border
with how many States?

(a)
(bj
(c)
(d}

o n s W
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26, fAfafgs g # & ®=9-w w gl - 28. IAEA @ wafig Pefafae a9 w =

TEt 27 IR :
2008 ¥ I I 1. 3W 1957 O faw & ‘twwm w4’
o AR WA & ®9 0 wiva fFEn
T |
(o) ¥ ST i 2. IAEA uiuae® @ geaed fadm
(b) IRBR Ty difeEht AT d-et, fadm, arifean 7 2
fe) wEi-0) TEaTS T 3. wud wfefyr & 3gER 1AEA Tgw
i wefer ( B HgrEw i yiaad Wi+t 21
(d) 2ty o NIERIERIC] IqgwE HYA § | FE-T0/8 w9 B/E?
fa) 1, 23R 3
27. gA-1 # G-I & Wy gafaa i ik (b) ¥ 1
i & i e u e @ @ W= gE
sw g (c) Ha@ 2 I 3
-1 -1 (d) Fa& 3
(Rerersh) (@=)
A. T AT 1. fe=sh 29. ffafgs & R B9 @R &1 mE=

s g ‘iR otfw R ofem e

B. sfga a2, @R FA oW form T 77
C. ue fém 3. Haarsht
- . (a) o e I yid
D. fdam e 4. TgwA A (b) WA
(c} o THo forgen
TE ;
(d) TFI T
(@@ A~ B C D
4 1 3 2
30. frm T=dt % g mar wew i dad g
) A B C D 2
2 3 1 4
() 3
/ A B C D
4 3 .1 2 (b) 4
@ A B C D e 5
2 1 3 4 (d) 6
P-DE-A-J-HL/1A 11 [P.T. O.
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31. Which one of the following pairs is 33. Who among the following had won

not correctly matched? _ the Wimbledon Women’s Singles
Country Currency Title, 20087

fa) Brazil Reais {fa} Ana Ivanovic

{b) China Yuan (b} Maria Sharapova

(c] Mexico Pesos fc) Serena Williams

(d), Thailand Ringgit (d) Venus Williams

32. Match List-I with List-II and select

the correct answer using the code 34. Who among th.e follcmfirl,tgt is the first
given below the Lists : man (after Bjorn Borg in 1980) to
. win the French Open and
List-I List-IT E!iml;ledon Singles Title back to
(City) (Stadium) acks
A. Bangaluru 1. Sawai Mansingh (a) Rafael Nadal
B. Chennai 2. Sardar Patel (b} Roger Federer
C. Motera 3. Chinnaswami {¢) John McEnroe
D. Jaipur 4. Chidambaram
{d} Daniel Nestor
Code :
35. Which one of the following books had
@@ A B C D been named as winner of the Best
1 2 3 4

of the Booker Award in 20087 -

(b) A B g D fa) The Enchantress of Florence

3 4 1 .
) A B C D (b) Disgrace
1 3 2 4

fc) Midnight’s Children
d A B C D :
3 2 4 1 (d} The Siege of Krishnapur

P-DE-A-J-HL/1A 12
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31. F=ffas 8 & F-w = 3w gafee = 33. fFmfafas 3§ @ fed e aften

27 I7ged, 2008 Sfia?
W = (a) TT FEHREF

(@) wsd 1138 (Reais) (b) TN ST

(b} < A (Yuan) | (c) ¥t faferry

A
{c) gl (Pesos) @

(d} uEeve fifire (Ringgit)

: 34. 59 A IR Prewed wwm TEed
32. g1 =i g=-1 & wy gRfae Fife ik FTEER S e (1980 § 4 anf &

i % R R ge w1 W@t = gd @) Ygan gFu Raendl fefafiaa § @
Wﬁﬁ?: . BIH 27
Th-1 11 :
fa) YHS AR
(FR) (Rfz=m) Y
A SgE 1. war AR (b) TR P
B. 9% 2. TER U 5
c. wm 3. Rerant (e) S et
D. S 4. faerem (@) e ex
e :
(@) A B -C D 35.%%%351@#—@@3@33200813
1 2 3 4 ' U 3 T g iR ) faea % w9 A
Ifggfaa g5 oft?
) A B C D
3 4 2 1 (a) T TE2T HTH FRH
©) A° B C D k) fegE|
1 3 2 4 '
e} s FegT
@ A B C D
3 2 4 1 (d) @ dIS 3% FOTgR
P-DE-A-~J-HL/1A 13 [P.T.O.
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37. Which

36. Which one of the following countries

has recently carried out military
operations in Georgia?

{a) USA
{b} Poland

{c] Russia

{d} Kyrgyzstan
one of the following
Committees/Commissions was

formed to study and suggest pricing
pattern for oil and natural gas
sectors in India?

{a) B. K. Chaturvedi Committee
(b) Sachar Committee
fc¢) B. N. Srikrishna Commission

(d} M. Veerapa Moily Commission

38. Which one of the following countries

has adopted a new Constitution in
the year 2008 aiming to pursue a
modern, multi-party, democratic
system and giving more power to
the judiciary and legislature?

{a} Japan
(b} Bhutan
{c) Maldives

(@)

Singapore

P-DE-A-J-HL/1A

39. Which one of the following countries

has recently tested a two-stage
satellite launch rocket named the

Safir-e-Omid or the Ambassador of
Peace?

fa} Israel

(b} Iran

{c) Pakistan
(d) Turkey

40. Consider the following statements

about Comprehensive Test Ban
Treaty (CTBT) :

1. The treaty comes into force
only if and when all nuclear
capable countries sign it.

2. Iraq and India have not signed
the treaty.

Which of the statements given
above is/are correct?

(a)
(b) 2 only

1 only

{¢/ Both 1 and 2
{d) Neither 1 nor 2

41. In appreciation of his environmental

14

research and campaigns, space
agency NASA has recently named a
minor planet after whom among the
following?

(a}) Sainudeen Pattazhy
(b) Anil Agarwal
{c) Sunita Narayan

{d} R. K. Pachauri
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36. FrafaRed 2t § @ R gra 8 siffstan |
=1 Frdard i 27?

fa) Yo THe Qo
(b) UATR
fc} w4

(d) Tt

37. WA ¥ A a1 WEHw T oA F fou
Hig-Pufor wfoey % sremmg qw @
fra % ggm ¥ & fou ffifea
aiufegt/emardt & & fFg & w1 A
Toran T An?

(a) e Fo agad wiifa

(b) H=R Wil

(c) e o sfiFem M
(d) o do Aigelt ST

38. fi=feriaa 2w & & forg 1w 3 & 2008 &

ayfies, wgacl®, dladite sTae &
I T T IR 3R et
H R it wite [ & e §
dfear sifer feam &7

(a) SR

(b} A
IR A G

(d) Ty

P-DE-A-J-HL/1A
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39. frafafaa ¥t & & fFm @dR-g-aifie
v ‘=t % Uegn AW @ T ° feudt
f2aTrge wardt ehe 1 wlieor e @7

(@) FHTA
(b) S
(c) URRETR
(d) TH

40. FiERRE 7w = #H (CTBT) & Tm #
Frafaiae Fuat w Rer fif -

1. 3% Wi Fge off @rg adt &, 3l
3t 9 wft womp-wmy g W W
FEIET B 8

2. T 30T 9RE 3wl T gene T8t
feru 21

I FoEl § | wH-A1/Q /8
{a} FEA 1

(b) A 2

fc) 132

(dj T 1MIA2

41, fafafga & @ fom @& & W W \@F
RiEoa TEHR a9 WA & T
T oaied @ NASA 3 @ § @&
WY-TE T T fer R7

() EFd TR
{b) A& wETE
(c) g AT
(d}‘ o o TR

{P.T. 0.
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42. Who among the following has issued
the coin rupee for the first time?

fa) Muhammad-bin-Tughluq
{b) Alauddin Khilji
fc) Sher Shah

(d) Akbar

43. Which one of the following was the

original name of Tansen, the

famous musician in the court of
Akbar?

{a) Mahananda Pande

{b) Lal Kalwant

(c)] Baz Bahadur

(d} Ramtanu Pande

44. Who among the following was not a

member of the Cabinet Mission?

fa} Sir Stafford Cripps

(b) A. V. Alexander

{c) Radcliffe

fd) Pethwick Lawrence

P-DE-A-J-HL/1A

45. What is the correct sequence of the

following events?

1. Rowlatt Act

2. Gandhi-Irwin Pact

3. Morley-Minto Reforms
4. [Ilbert Bill

Select the correct answer using the
code given below :

Code :

(@) 1-2-4-3
(b} 4-3-1-2
(c) 4-1-3-2
(d) 3-4-1-2

46. Under which one of the following

systems of assessment, the British
Government  collected revenue
directly from the farmers?

fa) Zamindari
fb) Ryotwari
{c¢) Annawari

{d) Desaiwari

47. Who among the following has started

the Public Works Department in
India in AD 18487

(a) Lord William Bentinck
(b} Lord Dalhousie

{c) Lord Wellesley

{d} Lord Cornwallis
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42. Frefafaa 1 4 fre o=@ g e svar 45, fFrefafan gemett w1 wdt sigEn w0 87

o e 1. e iwe
e ' 3. W-fr gum
(b) gy Rawsh 4, T foa
e R g g @ WEM W T IW
(c) dnImE .
fa) 1-2-4-3
(b) 4-3-1-2
43, 3HR F TEX & WG gy a=aa =
fFafaflga 3 8 =F-91 amwe T 9r? (c) 4-1-3-2
(d) 3-4-1-2

(a) TEFZ QS

46. FfaRaa w=-fufon ymiea! 3§ @ s

() < sria ity wer st @ €9 wa

THER wal oft?
(c) S HETGL
fa) wfard
(d) Tog Qe (b)Y
(c) IEEM
44, Piefefa # ¥ 25 SRA2 fve =1 o= (d) ST
FET ar?
47. 1848 &= § Piefufiga 4 @ forgr sy &
(@) W RBE BFE - Frmfor Ry wrew fen?
(b) To o TR fa) < fafeem 8=
(b) wIE R
=
f c) < IAwA
(d) T =i (d) @E et
P-DE-A-J-HL/1A _ 17 [P.T.O.
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48, Who among the following was thrice
elected President of the Indian
National Congress?

fa) Dadabhai Naoroji
(b) Surendranath Banerjee
{c) Gopal Krishna Gokhale

{d) Shankaran Nair

49. Match List-1 with List-II and select
the correct answer using the code
given below the Lists :

List-I List-IT
{Person) {Associated in
Formation of )

A. G. K. Gokhale 1. Servants of
India Society
B. M. M. Malaviya 2. Benaras
Hindu
University
C. C. Rajagopalachari 3. Free India
Society
D. V. V. Savarkar 4. Swatantra
Party
Code :
{a) A B C D
1 2 4 3
(b) A B C D
3 4 2 1
{c) A B C D
1 4 2 3
{d A B C D
3 2 4 1

P-DE-A-J-HL/1A

S50. Who among the following Urdu poets
was invited to the Second and Third
Round Table Conference?

(a) Faiz Ahmad Faiz
{b}) Josh Malihabadi
{c) Muhammad Igbal

{d} Firaq Gorakhpuri

51. What is the correct sequence of the
following events?

1. Bardoli Satyagraha
2. Rajkot Satyagraha
3. Champaran Satyagraha

4. Nagpur Satyagraha

Select the correct answer using the
code given below :

Code :

(a) 1-2-4-3
(b} 4-3-1-2
fc) 3-14-2

(d) 3-4-1-2
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48. Fmfafes # ® =7 v wa =0 @ 50. FrafoRen = whl #§ & fem gL afR

dH IR 2A%E gA1 =7 R ons wee ® amba R mn
a7
(@) <EME AT
(b) GLEAY A (a) &= sEwE ¥
fc) TIHETS o1 et
_ (b) S wefETad
(d) THH T
(c) WHEHTE THIE
49. -1 = G-I % Ty gRfea hifsg ain '
e & = fag g = o = oad (d} T TREgh
W@ﬁq:
A1 -1
(=) (Frurht e &
arrg) 51. F=tafaa wenstt w1 wdt e =0 27
A o Fo TER 1. wiem ¥iw IHE N TRl T
gt 2. TS 9EWE
B. o o Wed™ 2. &WE R 3. IR GETTE
fraforreg
C. dlo TeriUET 3. W 3ved daad o
D. dffo fto A = 4. wWEA W - H= e w7 &1 W W ad s
LG
T
®he
@ A B C D
1 2 4 3
B A B C D (@) 1-2-4-3
3 4 2 1
() 4-3-1-2
) A~ B C D
14 2 3 () 3-1-4-2
d A B C D
3 2 4 1 (d) 3-4-1-2

P-DE-A-J-HL/1lA 19 [P.T.O.
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52. In which of the following years was 553. Who among the following was the
the first Railway line between founder of the Muslim League?
Bombay and Thane laid?

fa) Muhammad Ali Jinnah

(a) 1853 (b) Shaukat Ali
(b} 1854 fc) Nawab Salimullah
(C} 1856 {d} Aga Khan
(d) 1858
56. Whose philosophy is called the
Advaita?
53. Who among the following was not (@) Ramanujacharya

a party to the league that was
defeated by the British in the Battle
of Buxar?

(b} Shankaracharya
{¢) Nagarjuna

fa) Shuja-ud-daulah (d) Vasumitra

fb) Shah Alam
57. Consider the following Vice-
(¢ Mir Jafar Presidents of India :

{d) Mir Kasim 1. V.V Giri

) 2. M. Hidayatullah

54. In Buddhism, what does Patimokkha 3. B. D. Jattj

stand for?
4. @G. 8. Pathak

fa) A description of Mahayana _ _ ‘
Buddhism Which one of the following is the

correct chronology of their tenures?

(b) A description of Hinayana

Buddhism (a) 1-4-3-2
fc) The rules of the Sangha (b} 2-1-3—4
fci 3-2-1-4

(d) The questions of king
Menander (d) 4-1-3-2

P-DE-A-J-HL/1A 20
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52, f=fafaa & @ frg af F yech W3 @A 55. Fr=fefige & @ =6 giem o #1 dems

T R o F =9 el 18 et 77
@) 1853 (@) WEHS I o=
(b) Tivewa oAt
(b) 1854
(c) T TAYgrE
fc) 1856 (d) T
(d) 1858

56. {rus g3l &) ‘o13d’ =ar S &7

(o) TRIESTERE
s3. f=fafa § | 9 3w 99 %1 ggvrh 2 _
or, R SR ¥ 7¢ § e 3 wow (b) TR
?
o wt © T
fa) FE1-3g-3r (d) g
(b} TR ATEH
57. 9d & fFmfafgs Iwmgufel w f=w
(c) TR SR PIfSTL :
1. e o firit
(d) T wrfRm ’ 2. o Temga
3. dito o Sl
4. Sfto wde YTdeh

54, Sg-ud § gfanww € T arad 37 Freffes # 4 #R-0 @ 3% wdEm

F1 & FIATGEA 27
(a) WEEH g & ot
(a) 1-4-3-2
(b) THER NG F faswon
. (b} 2-1-3-4
(c) ¥=* Fem fc) 3-2-1-4
(d) T AT & W (d) 4-1-3-2
P-DE-A-J-HL/1A 21 [P.T.O.
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58. In which one of the following 61. The head of a district (Ahara), the

Ministries the census organization principal coordinator of the revenue

has been functioning on a and the officer in charge of general

permanent footing since 19617 and military functions in his
urisdicti .

fa) Health and Family Welfare _]uns. iction during Mauryan
Empire was known as

{b) Home Affairs (a) Krori

(c) Social Justice and Empower- (b} Rajuka

ment

fc} Foujdar

d) Human Resource Development
@ P {d} Chirastadar

59. Which of the following is not a
recommendation of the Ashok
Mehta Committee on Panchayati

62. Which one among the following
States has the highest gender

disparity?
Raj? panity
fa) Orissa
fa) Open participation of political
parties in Panchayati Raj (b} Uttar Pradesh
affairs (c) Haryana
{b) Creation of a three-tier system {d) Maharashtra
{c) Reservation of seats for
Scheduled Castes and 63. Who among the following
Scheduled Tribes recommends to the Parliament for

the abolition of the Legislative

{d) Compulsory powers of taxation Council in a State?

to Panchayati Raj institution
{a} The President of India

60. With reference to the Constitution of (b) ';het Governorl of the concerned
India, which one of the following tate
pairs is not correctly matched? (c} The Legislative Council of the
Subject List concerned State
: d) The Legislative Assembly of the
(a) Stock The State d) The Legisla moy
. concerned State
Exchanges List
(b) Forest The Concur- 64. Nail polish remover contains
rent List
‘ (aj acetone
{c} Insurance The Union
List {b) benzene
(d} Marriage and The Concur- (¢) petroleum ether
Divorce rent List (d} acetic acid
P-DE-A-J-HL/1A 22
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s58. F=fafgs maewi 4 @ g w6 & sraria
FPOET G, 1961 A wrft Ot
AT 3T T 87

(a) TR ©d qRER Feame
() T&
(c) THIRF = & Aftrenfa

(d) WA= Taer e

59. fefafes & & sR-ff =l ™ w
3Tk gar wiHfy it ergwe T 27

(@) TaEdt TS "Wl T el gElt
= gel! wiErl

(b Tl sgaran = famin

() gl wifd e orggiua
EEENReHER TR e ica e ttau|

(d} wEEd TS e ) wUOeer
stfrard wieai

60. 9a & wigum & wed § Frafafga goit

# ¥ H-wr kA T 37

fora oht
(a) T AT T
(b) Feat gt
fc) = wH =
(d} foame vd qomw wHad g

P-DE-A-J-HL/1A

61. "W W & S R (mERT)
W@, TS &1 YUE G99 a9 A9
At & F=wia e AR 8
TEEl & wwl wfted e ww 9 s
ST 417

{a) R (Krori)
()

c) WINIER
(d) fFaEr

62. frafafan vl # @ @ & 1§ wE=
& -armmra 82
fa) S
(b) IR W
(c) wiwmm
(d) HEWg

63. fefofaa 4 @ =1 & = o fum

afwg % I & fow wug @ gy
T 27

(a) RT 1 Tgafa

(b) WEEE T T AT
(c) Tafa =g h faum afteg
(d} wrEtEg Ty @i foum @

[P.T.O.

StudentSuvidha.in



http://studentsuvidha.in/
http://studentsuvidha.in/

65. Who among the following had moved
the objectives resolution which
formed the basis of the Preamble
of the Constitution of India in
the Constituent Assembly on
December 13, 19467

{a} Dr. B. R. Ambedkar
() Dr. Rajendra Prasad
{c} Sardar Vallabhbhai Patel

{d) Pt. Jawaharlal Nehru

66. Which one of the following is the
largest Committee of the
Parliament?

(a} The Public Accounts Committee
(b} The Estimates Committee

{¢¢ The Committee on Public
Undertakings

(d} The Committee on Petitions

67. Who among the following was not
a member of the Constituent
Assembly?

{a) Sardar Vallabhbhai Patel
(b} Acharya J. B. Kriplani
(¢} Lok Nayak Jayprakash Narayan

{d} K. M. Munshi

P-DE-A-J-HL/1A

68. In which of the following years the
Fundamental Duties have been
added to the existent Fundamental
Rights in the Constitution of India?

{a) 1965
(b) 1976
€ 1979
(d) 1982

69. Consider the following statements
with respect to Attorney General of
India :

l. He is appointed by the
President.

2. He must have the same
qualifications as are required
by a judge of High Court.

3. In the performance of his
duties he shall have the right
of audience in all courts of
India,

Which of the statements given
above is/are correct?

{a) 1 only
(b} 1 and 3 only
fcj 2 and 3 only

(d) 1,2 and 3
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65. Frfufga d @ e 13 fewmw, 1946 =1 68. fimfifan & A frm af § wia & wRwm

dfaum o § ITE-TEed WO S § e qo afed # @ wdet W
(Shreer) 1 U <17
(@) o o WMo AT (@} 1965
(b) o T3 wER (b} 1976
fe) T A R (¢ 1979
@ = e (d) 1982
66. Frffan & & W T R @
Hd i 87 69. T 3 WA ¥ wel & e
| ol T R AR
fa} % o afifa
1. 9% tgafd R Cges fomn wman 1
(b) ST i ' 0. ITH UH T8 IEAW BF ETE
: g, S 3= =W % AmdEm %
fc) T IuFEA aiufd fr 5,
(d) e vl (FR a7 ffww) 3. T Fdeal F uitred § I WA F
ot =] § sEenitesr @
39k el A wH-E/R w287
67. F=fafias & 9 =0 #fFum o =1 T==
FE on?
{a} Fad 1
(a) WE IGIVE e
(b) Fad 1 3 3
{(b) STIHT!f?::’loEﬁoq;qapﬁ
(c) TAFATTF AR ACHE fc) FaA 2 3 3
(d) Fo Wo T (@ 1,233
P-DE-A-J-HL/ 1A 25 (P.T.0.
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70. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-] List-IT
(Provision of the (Source}
Constitution of India)
A. Amendment of 1. Constitution of
the Constitution Germany
B. Directive Princi- 2. Constitution of
ples Canada
C. Emergency Power 3. Constitution of
of the President South Africa
D. The Union-State 4, Irish
Relations Constitution
Code :
fa) A B C D
1 2 4 3
{(b) A B C D
3 4 1 2
fc) A B C D
1 4 2 3
(d} A B C D
3 1 4 2

71, Who among the following was elected

as the President of All-India
Khilafat Conference met at Delhi in
1919?

{a) Motilal Nehru
(b} Mahatma Gandhi
(c/ M. A. Jinnah

(d} Shaukat Ali

P-DE-A-J-HL/1A

72. According to Article 164(1) of the

Constitution of India, in three
States there shall be a Minister in
charge of tribal welfare who may in
addition be in charge of the welfare
of the Scheduled Castes and
Backward Classes. Which one of
the following States is not covered
by the Article?

{a) Jharkhand

(b} Punjab

{¢/ Madhya Pradesh
{d} Orissa

73. In which of the following years was

the All-India Trade Union Congress
formed in Bombay?

fa} 1918
(b) 1919
(¢ 1920
(d} 1921

74. Which one of the following is the

correct chronological order of the
tenures of the following Presidents
of Indian National Congress?

1. Jagjivan Ram
2. K. Kamraj

3. P. D. Tandon
4, U. N. Dhebar

Select the correct answer using the
code given below :

Code :

fa) 1-2-4-3
(b) 2-3—4-1
fcg 3-4-2-1
{d} 3-4-1-2
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70. -1 @ G-I & Wy gafer i efi 72. TG % WEYR % =8 164(1) *

Fﬂ%ﬁ%?ﬂ%ﬁqﬂq%‘émmmﬂﬁ STgER ot Usdl § Sty weam & farg
W AT : G gl Wit gm, S s TRl &
arfefee srggfem wfeadt ot el anf &

-1 ESipd Fem F Wl am| Pl 3 @
ITq+Y ) |t

A. THRYR goeE 1. st =1 sfae (@) FREE

B. fws ma 2. FAE & FRAUH (b) ST

C. Ugafa i aard 3. afiur onfid & (c) WA Naw

atfrar dfqum (d) 3Igm

73. Frafafea & @ few af A afa sfoean 3

T2 : IR F F arEs | IS gan At
| (@) 1918
@@ A B C D
L a2 4 3 b) 1919
f) 1920
)] A B C D (d) 1921
3 4 1 2

74, TR TEE FOE & Fefafaa s &

6 A~ B C D wdwl & e § @ ee-m
1 4 2 3
ot Ty 27
(d A B C D 1. SR R
3 1 4 2 2.  Fo FIWW
3. Yo Eo zwea
71. ﬁmﬁ«r@aﬁﬂﬁqlglgﬁﬁ@ﬁ@ 4. o To S
Aftgd wdlg flasmea wlie 1 e 9 fiu M g2 w1 owEm WAl IW
ECIRICHE T i
(a) T TS _ e
(o) wE i (@) 1-2-4-3
(b} 2-3-4-1
() o To f (c) 3-4-2-1
{d) e el (d} 3-4-1-2
P-DE-A-J-HL/1A 27 [P.T.O.
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75. Who among the following was the 78. If a small raindrop falls through air
first Speaker of the Lok Sabha?

(@ M. A. Ayyangar {a} its velocity goes on increasing

(b) G. V. Mavalankar (b} its velocity goes on decreasing

(c} Sardar Hukam Singh .
{c) its velocity goes on increasing
(d) N. Sanjiva Reddy for some time and then

becomes constant

76. In which of the following years was (d)
General Agreement on Tariffs and
Trade (GATT) absorbed into the

it falls with constant speed for
some time and then its velocity

increases
World Trade Organization (WTQ)?
fa) 1991
(b} 1995 79. Television signal cannot be received
generally beyond a particular
- f¢) 2000 distance due to
{d) 2005 i
(a) curvature of the earth
77. Consider the following statements : (b} weakness of antenna
X-rays

{c) weakness of signal

can pass through aluminum

" £ si ..
2. can be deflected by magnetic (d) absorption of signal in air

field

3. move with a velocity less than
the velocity of ultraviolet rays

80." Because of which one of the following
in vacuum

factors, clouds do not precipitate in

deserts?
Which of the statements given

above is/are correct?
/ {a) Low pressure

1, 2 and 3 '
@ an () Low humidity

{b) 1 only
igh wind veloci
fcy 2 and 3 only {c} High wind velocity
(di 1 and 2 only (d) High temperature
P-DE-A-J-HL/1A o8
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75. fFfafen 4 @ =W &% @ # wm 78. afe U 7y auf-dt I @ Bt g et €,
aegy (Tdvt) on? LES

(a) o To 3 {a) SHEH AT Sl HET 2

(b) e Fo urEEER
(b) ITH AT G A€l &

fc) ©ER g fag
0§ (c) SHH 97 $© HRA % fog T wa
(d} o wsiig & 3 37 fot w2
76. Fiefafaa § & fra ad # M 3ft =R (d) & To 7 F forg sl 4 @
A A B (GATT) # g =mm et & oM Ta sw A =g < @

& (WTO) 8 fiermar mn?

fa 1991 79. ffasA gha a9 g0 ¥ wae

(b) 1995 rfiian & & res oo w9 @
(¢ 2000 Q!
(d) 2005 (@) 9= & Iear
et & gelean
77. Trefofaa sot W faam Hifvw . "
it (c) Hehd 1 georan
2. YA & g e f s awd
2
3. Feid o wo-ar fwal & 3 Hi 80. ffaRer # ¥ fF v s @ weww &
UL HH A7 H i wA § wIEE 1 9907 @ B 27
Ide wYEl § @ FE-a/A wh R/EY @ e
(@ 1, 23MW3
(b) T srdar
(b} Had 1
(c) ¥aw 2 3w 3 () ¥= AR am
(d) a1 32 (d) 3= M
P-DE-A~J-HL/1A 29

[P.T.O.
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81. Which one of the following is an

object with such

a strong
gravitational field that even light

cannot escape from its surface?

{a}] Neutron star
{b) White dwarf
{c) Black hole

{d) Supernova star

82. Which one of the following is a
medium range surface to air

missile?

(a) Trishul
{b) Nag

(c) Prithvi
{d) Akash

83. Match List-I with List-II and select
the correct answer using the code

given below the Lists :

List-I
(Vitamin,)

" Vitamin A
Vitamin B,

Vitamin C

o ow»
FO L S

Vitamin E
Code :
(a)

(b}

{c)

(d)

NP P NP> b
~ Wm0~
WO =0 =0 LD

P-DE-A-J-HL/1A

List-I1
{Chemical
Compound)

. Thiamin
. Retinol
. Ascorbic acid

. Tocopherol

A0 MO A0 NOD

84, Which one of the following is the

tide produced as a consequence of
moon and sun pulling the earth in
the same direction?

{a) Spring tide
fbj Neap tide
{c} High tide
(d} Low tide

85. Aqua regia used by alchemists to

separate silver and gold is a
mixture of

(a} hydrochloric acid (concen-
{rated) and nitric acid (concen-
trated)

(b} hydrochloric acid ({concen-
trated) and sulphuric acid
(concentrated)

fc) nitric acid (concentrated) and
sulphuric acid {(concentrated}

{d) hydrochloric acid (dilute} and
sulphuric acid (dilute)

86. Commercial vulcanization of rubber

involves

fa) sulphur

{b) carbon

{c) phosphorus

() selenium

87. In which one of the following is

higher percentage of carbon found?
{a) Lignite coal

{b) Peat ccal

{c¢) Bituminous coal

{d) Anthracite coal
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g1, Ffafas & @ #9-dt 8 & =g R,

84, fi=ffas 8 ® wsm e gd @ gW

o v Tl &9 % RO YR B gt wl ww @ e # srefda s %
sft FEh! Tag A gerd T8t 8 arr 87 TROMEEY SH-U1 TF SaR &S ot
(a) =@ &7

(b) B AT () (a) FEq TN

(c) F= B (= 2) (b) G SIR-AFT

(d} FIRET R (c) 3= vaH

82, TyfeiRad & ¥ =-91 & weay aad =

P-DE-A-J-HL/ 1A

31

(d) = sSr-vme

Jeft | 1Y H WEW HT S TGIE 87 85, TR w1 wE T @l B e w F
fa) B@ e vt W Pefifen § @
(b) A omam Tormor 29
() =R (a) TEGINE S (Wiz) T ASHH
(d) s 3 (919)
(b) TEEFANE A (WE) aM
83. g1 % G-I & Wy gaRia Hifvm ik HeHfh A (WiR)
grat & 49 Ry T g @ @ W) a9 c) TERE o (V1) o Ao
I AT I (Wiz)
-1 1 (d) TEEEIE A (F7) T W
(Frafm)  (Tmafe ditfe) 3 ()
A. e A 1 ””..“l 86. 9% % AMIEF Fowteor § fargem wam
B. fearfim B, 2. i wifde 27
c. fafm 3. Uit a0 (a) TUw
D. feffm E 4, A (b) FEA
¥z (c) TERRE
@ A B C D (d) facifrm
4 1 3 2
87. f=fifen 4 A e ™ § w67 $1 3= @
S A R T A Sl 37 -
) A B C D (a) TewEE Faen
4 3 1 2 (b} dT wEen
() A° B C D (e} TogBrft e
2 1 3 4 (d) CUTETEE FHEE

[P.T.O.
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88. Which one of the following when
.dissolved in H,0 gives hissing
sound?

{a) Limestone
(b) Slacked lime
(¢} Soda lime

{(d) Quicklime

89. The rusting of iron nail
{a) decreases its weight
fb) increases its weight

{c) does not affect weight but iron
is oxidized

fd) does not affect weight but iron
is reduced

90. Which one of the following is heavy
water used in nuclear reactor?

fa) Water having molecular weight
18 amu

(b) Water having molecular weight
20 amu

{c) Water at 4°C but having
molecular weight 19 amu

{d) Water below the ice in a frozen
sea

P-DE-A-J-HL/1A
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Which one of the following is used as

a mordant in dyeing and tanning
industry?

{e) Magnesium oxide
(b} Magnesium carbonate
{c) Magnesium chloride

{d] Magnesium sulphate

92. By which one of the following, an old

written material which eannot be
read easily, can be read?

(a) y-rays
{b) X-rays
fcj IR-rays

(d} Radiofrequency waves

Which one of the following

characteristics is common among
parrot, platypus and kangaroo?

(a) Oviparity

fb) Toothless jaws

fc) Homothermy

{d) Functional postanal tail

94. Which one of the following petroleum

refinery products has the lowest
boiling point?

{a) Kerosene
{b) Diesel
{c) Gasoline

(d) Lubricating oil
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88. fmfafaa & & fra o ¥ H,0 & fasfin 91. Fefafas d @ fem @ wd = 3wm

TN R diepr @i e Bt 27 T a9 =M § Teeuw ¥ w9 8
e <mar 27

(a) ~HT-9eay o) PR afeaTse

{b) THETEHJ (b) Whfirm el
{c) Wfifirm TivEe

(c) HET =
(d) Bifimm ave

(d) & g =

92. ﬁn%rf@aﬁﬁ%a@%magagcﬁ
fftaa werd 1, N atea & gy 7 A,

89. R R F F v o W TG ST Wbl @7
fa} y-Tentar
fa) FG% S B St R b] X frT
(b) IEH WA iy gt (¢) IR-Fm
(d) ed-amgla @
(c) ¥R A FF ofad @, g -
AT afeiga g 8
93. f=fafaa # & FF-w = fiwew dr,
(d) v # ®E uiEda 1€ dar, aRg A a1 HTE § aren 87
el feeriadisa B 2 (@) W
(b} <ta-UEq s=er
90. fiefifes # A ww-m T @ 2 W fc) EHaTIM
e fdwer § W@ erar 27 (d) FETF TEET 155

(@) 18 amu ST ST 1 I 04, Frefifian & A frw T e shom-
HIH I F HUAh Zan 27
() 20 amu s R F1 5w :

(@) Fd=
() 4 °C qM & v, Fmw anfoas b)) e
91 19 H
o © W ‘
(d) <% TCEgR # o6 % A9 W - (d) V&=
P-DE-A-J-HL/1A 33 [P.T.O.
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95. In which one of the following places

was Asia’s first Export Processing
Zone (EPZ) set up?

98. Which one of the following zones of

the atmosphere is rich in ozone
gas?

fa) Santa Cruz fa) Mesosphere
{b) Kandla
fc) Cochin

(d) Surat

{b) Troposphere
{c} Stratosphere
{d) Ionosphere

96. Which one of the following feature
films is official nominee for Oscar,

99, Which one of the following is an
2008 from India?

example of vestigial organ in man?
fa) Rock on

(b) Walu

(a) Jaw apparatus

(b} Ear muscles
{c} Drona

fc) Canine teeth -

{d) Tare Jamin Par
{d) Humerus

97. What is the correct chronological
order of conferring Bharat Ratna to

" 100. Which one of the following is a free-
the following?

living bacterium that helps in

nitrogen fixation in soil?
1. M. S. Subbalakshmi

fa) Azotobacter
2. Professor Amartya Sen

(b} Anabaena

. A PJ.
3 Dr P. J. Abdul Kalam (c) Azolla

4. Sushri Lata
Mangeshkar

Dinanath {d) Nostoc

Select the correct answer using the

. 101. Which one of the f{ollowing is
code given below :

associated with the formation of

. P
Code : brown air in traffic congested cities?

(a} 1-2-3-4 fa) Sulphur dioxide
(b} 3-1-2-4 (b) Nitrogen oxide

(¢) 2-1-4-3 fe) Carbon dioxide
fd) 4-3-1-2 Carbon monoxide

P-DE-A-J-HL/1A 34
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95. P=fifas & A fom @& ™M@ w R =

98, ffafea d @ +-w ©F argrveetia

v fata wraw 83 (EPz) tifia fean

I W | vy 27

Y

. (a) WHEHISHA
{a) T g b &
{(b) HiTM
© @ (c) THATHIS
C
(d Hd @)

96. Tr=fafas # & Fa-w ww Hufay s

99. fr=fiflga & @ $H-w1 & gew & mdd

2008 % Ry W &1 st TR 3T T TE #7

41 (a) ®F ITF (I WWew)
(b) =g (c) T®a

(e (d) iz

(d) arsHTw

97. fafafga = e wer fFu sw =0

100. Fefafaa § & s0-11 t goh-Sfidt sty

%s Eh W ﬁ qlsila:{ Zﬁﬁlﬁm ﬁ Yaideh

T e w1 87 Bran 27
1. Wio W;SSM (0) AR
2. WHEW
. (b) T
3. Elo To o Ro I FAT
4. gift @ SR e (c) Usiten
(d) Tew

R for Mo W oW W o IW
EELE

%< .

101. Fe=fafEa § @ F9-a1 & qoEa-agie

TR F offt 917 993 QA geg 27
fa) 1-2-3-4 .
(a) TER SEATFETTS
(b) 3-1-2-4 (b) T S
¢ 2-1-4-3 (c) HTe SIZRATFAES
d) 4-3-1-2 (d) FHEA WRIFAES
P-DE-A-J-HL/1A 35 [P.T.O.
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102. Which one of the following is the

permissible level of noise in a silent
zone at daytime?

{a) 50 dB
(b} 60 dB
(cj 65dB
(d) 75dB

103. Which one of the following is the first

National Park established in India?
(a) Bandipur

{b) Corbett

{c) Velavadar

{d} Periyar

104. Bryophytes are photosynthetic but

do not have vascular tissue and
true roots. This feature enables
them to resemble with which of the
following?

{a) Fungi
{b} Algae
{c} Pteridophytes

(d} Angiosperms

105. The genetically engineered ‘Golden

Rice’ is rich in which of the
following?

(a) Vitamin A and nicotinic acid
(b) P-carotene and folic acid
(c) P-carotene and iron

{d) Vitamin A and niacin

P-DE~A-J-HL/1A
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108. The plant dye

106. Consider the following statements :

1. National Parks are a special
category of protected areas of
land and sea coasts where
people are an integral part of
the system.

2. Banctuaries are concerned
with conservation of particular
species,

3. Biosphere Reserves are
connected with the habitat of a
particular wild animal.

Which of the statements given
above is/are correct?

fa) 1,2 and 3

{b} 2 only

¢ 1 and 2 only

{d 1 and 3 only

107. Which one of the following is

categorized as millet?
{a) Wheat

(b} Rice

{fcj Sorghum

(d) Maize

Henna imparts
orange-red colour to skin and hairs
due to its reaction with which of the
following?

{(a) Proteins and amino acids

(b} Lipids

{c) Carbohydrates

(d} Nucleic acids

109. Which one of the following plants is

preferred for mixed cropping in
order to enhance the bicavailability
of nitrogen?

{a) Wheat

(b} Gram

{c} Maize

(d} Barley
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102. 3 % wmw wixgm # @y 1 g ww
frefoiea & @ Fm-w1 87

(a} 50 dB

(b) 60 dB
{c) 65 dB
(d) 75 dB

103. fafafd § 4 ¥R-w & wa oF wRE

T Feyem i foean man?
(a) SR
(b) HHEZ
(c) Hewrat
(d) ufEn

104, FRIFEE FHM-T@H @ T &, g

gt o i IataE o @ et 8
g fumar & o 3 ffafas @ @
e waw £7

(a) %=
(b) AT
(c) MSrhrge
(d) fSmEred

105. sngafyea: seifEfm ‘deea wa #

fr=fafea & ® Rl wrgean 27
(o) fa=ifim A sin feifafis ama
(b) B-HUdA 3wt 3w
(c) PB-FEA 3 g

(d) faafim A it fmfim

P-DE-A-J-HL/1A
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106. Tm=faRaa st gt fmm $iftw .

1. Tgm urk Rite 3t % e @ wgh
W & adin & g, ool ura, @
& e W R

2. AN @1 gy fafie wenfoat &
T | )

3. Sliamved fed o fomiw o= 5ig %
e o gt §)

Iuft Fot | A B/ T /8
fa) 1,233

(b) e 2

(c) a1 32

(d) Faa 1 AR 3

107. Fefafes 4 @ wF-w = fiee oof #

e 87

(a) WE

(b) HH
{c) TR
(d) ™Rl

108. m%mﬁmmﬁaﬁﬁmﬁf@aﬁ

4 frma sfufrn @ sl aw == &
1 Y A0N-Te W ad) 87

(a) ST R YL e

(b) fafle

fc) FTEREGE

(d) qFlh I

109. Ffafias 3 & frg & N 3 wEdem R

$a-39crewar wg ¥ ffm Ot ¥ R
a1ften wa e ot 27

(@) T

(b} =

{c) H=Il

() st

[P.T. O
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110. The Red Data Book’ containing 113. Match List-I with List-II and select

information on all wild plants and the correct answer using the code
animals in danger of extinction has given below the Lists :
been published by which one of the
following? List-I List-II
(Medicinal (Source)
fa) International Union for Product)
Conservation of Nature and A inin 1. P lant
Natural Resources {IUCN} - Quinine - FOPPY P
, B. Morphine 2. Bacterium
(b) World Wildlife Fund (WWF) .
C. Penicillin 3. Cinchona bark
fcj World Conservation Union D. Tetracycline 4. Fungus
(WCU)
(d} United Nations Environment Code :
Programme (UNEP)
111. Wavelengths of which of the (@ A B C D
following colours of the visible 3 4 1 2
spectrum of light are maximally )
absorbed by green plants? (b) A B C D
2 3 1 4
{a) Green and Yellow
fb) Red and Blue fct A B C D
fc) Green and Red 3 1 4 2
(d} Blue and Yellow (dj A B C D
2 1 3 4
112. Consider the following regions of
India :
1. Western Ghats ‘ 114. A Forgotten Empire, written by the
2. Aravali Hills renowned historian Robert Sewell is
3. Eastern Himalayas abou.t which one of the following
Empires?
Which of the above is/are
biodiversity hot spot/hot spots? ] {a} Kushan Empire
(@) 1 only - (b} Mauryan Empire

fb) 1 and 3 only

¢} Vijayanagar Empire
{c) 2 and 3 only (c) jayanag P

fdi 1, 2 and 3 {d] Mughal Empire

P-DE-A-J-HL/1A a8
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110. @l o Ry w§ Wy, W e N F
TR W §, § W=F4a T @A aen
T B 2w w THvH fmfafaa
T ¥ fra w7 R 27

(a) YHR @ IEE dEmED F owam
Bg 30E™ W9 (IUCN)

(b} Taw ==t ffy (Wwr)
fc) Tom e 59 (Weu)

(d) WIF TF Y&iatr Sum (UNEP)

111, M % g0 WA & fafes § 9
BT T A R | uRd gw
alﬁwamﬁﬁa?ﬁwﬁ%?

fa) & ug dish
(b) T T e

{c} i w@ o
{(d) < @ fi=h

112. Wid & F=fefae &t ® fan it
1. it ure
2. e gefamren
3. i fenre Afvmy

Ifw ¥ ¥ FH-T/R Sl w=/F
TG ¥ 2/37

(a) & 1

(b) Faa 133
(c) +aa 2 3 3
(@ 1,233
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113. ¥H-1 | -1 F oy gafera Hifdg i

et & N e T e W o W= ad
Wﬁﬁﬂ;:

-1 qei-11
(aiweftg IeaTR) (&)
A B 1. GIE-97EY
B. Hifha 2. Sfamg
C. uffafes 3. fa=nrm v
D, WEERE 4. Wik
%< :

(al A B C D

) A B C D
3

2 1 4
{cj A C D
3 1 4 2

d A B C D
3

114, g sfema U dRw o fafew

T wieTied ey faefiaias oot 8 4
foru ww wEsg F IR T 7Y

fa) FHITM WHEY
b) T wE=R
¢} T o=y

(d) T QA"

[P.T.O.

StudentSuvidha.in



http://studentsuvidha.in/
http://studentsuvidha.in/

115. Which one of the following is
considered as the drug of last resort
for human being?

fa) Penicillin
{b) Tetracycline
fc) Chloramphenicol

{d) Streptomycin

Directions :

The following five (5) items consist
of two statemments, one labelled as
‘Assertion (A} and the other as Reason (R}’
You are to examine these two statements
carefully and select the correct answers to
these items using the code given below :

Code :

fa} Both A and R are individually
true and R is the correct
explanation of A

fb) Both A and R are individually
true but R is not the correct
explanation of A

{c) A is true but R is false

{d} A is false but R is true

116. Assertion {A} :

Venus is the brightest object in the
sky after the sun.

Reason (R) :

Venus is the second planet from
the sun in our solar system.

P-DE-A-J-HL/1A

117. Assertion (A) :

Despite low evaporation and stable
stratification of the atmosphere,
salinity is high in pelar regions.

Reason (R} :

Sea water freezes leaving the
remaining water saline than
before.

118. Assertion (A} :

Physiological density is preferable
to arithmetic density as an index
of population density.

Reason (R) :

Physiological density is based on
arable land while arithmetic
density is based on total area,

119, Assertion (A) :

Water in an open pond remains
cool even on a hot summer day.

Reason (R} :

Water on heating evaporates and
heat energy gets converted into
latent heat.

120. Assertion (A} :

Soaps do not form lather with
water containing salts of calcium
and magnesium.

Reason (R) :

Calcium and magnesium salts of
long-chain  faftty acids are
insoluble in water.
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115. Frfiflas # @ feo @ = 7gw ¥ faw
=M Ium $it Nefy F &g F 9@ S@
g7

(@) ufffem
(b) grETEERAA

e

Frfefiaa ofe (5) weie § 2 9w B, 06 &
‘e (A) U gE B FW (R) w1 T R EA
3l IR BT ATAHHIGAS T L 3 I %
TR AR Ry gu gz it wemw | g

e o

() A SR R I T E, MR, AW
TE TrEteE @

(b) AR dl &, WY R, A H
wE Tt AE §

fc) AT, WY R I @

(d) AYd @, Weg ROd R

116. % (A) :

T, T % 9K e # wea At
eer fivg 2

SR (R) :

TR ER wved § i, g @ quu 18 R

P-DE-A-J-HL/1A
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117, HF (A) :
FIAvES % <7 Al qun B wm
% dEse g & § aauar W
s 2
HR (R) :
| 9@, I T @ Tgq Hosnsn
sty Sy WA gu sm S
118. YA (A) :
SHEEA U H guw & ® A Y
e & gorn 7 it vae | alaa
& et &4 '
FI (R} :
wriifen aed HY-am gt 9 e &
Jafs S TTE P aArE W
a1
119. T (A) :
T I e #§ ot @A aemE
Tt 3UST BT R
%@ (R) :
T A1 | oeft aefiga g & qen am

Fat, T s # Sge o R0

120. HUT (A) :

Ffarm o Nfiftem & @9w ¥ Iw
ST % |y wrgd g i e

W (R)

@ e wH ol & SfeyEm ain
Brfifiv wt9or @i & angeEha #)

[P.T.O.
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SPACE FOR ROUGH WORK
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T W ARt qE THAU GRRET Terd W T HE W0 oS a9 T et

A : P-DE-A-J-HL ST YT IR
= G
52705
Tteror gitaent A
W §H
wwg ;g e | qUiis : 100
AFIW

1. wlien Qv A & goa 918, Y FH Tie gREeR hY ggare savd = o £ 3ad w e o, we
AT R FIN YB I WIAH AR A w1 AR W R, A @ v wdieror gitre @ wee i)

2. IW-UTE ¥ T T W qhem g sgEE A, B, C T D guifeufy we wu ¥ geag SRk

3. W@ @y Yfs @ § fiw o wmE d s s
g fere ) aitem giee wosth 59 7 fad)

4. @ oy R § 120 WA (9H) Ry g ) w@w uwmm B o sidsh @ sw 2 vols wew § =R
Seg (W) o g ¥ T R o e w g & B e aw-wEs W iRk wen Tl #1 af s Y
o {6 uw ¥ 1w wegw W &, A 99 v o) AR @t S Tvat aaim ol | Wl i % Ryu e
TH & WY T R

5. TR 3 oty e ¥ g g s W@ difE w3 81 gwemas § Re o fiw 2w

6. ™ WA % T wum & '

7. T0 v fR W whaw of@en F fafim weit & weqm owm-wk 9 AR E gE o, e wam
THI-OF % "W WA aTgewl ¥ ogan $% faw swmowe § 3 §)

8. W a1y T T wl IN-TEH § TR % 4 qu TE F I | FAS IT-Ten e Wy gy )
e I wy ahe giRe @ SR Y argmfy Ry :

9. = W & fom umk wlign yfeem & aw= o dem €

10. o 390 & Ty oe
TEgfE wy-wEi % softgan g fin 1y e ewdt & R ges B e

(i} e W % T an dwfchs Im 81 Iofiar 30 s we % R Ry T o e I g w3
Frag g o st @ ww-faed (0-33) T F w1 F @Ry smom)

(ii) 4R +3 I=fear v | Afis T 3 R, 91 B TEd I A s, iy e w sed & ¥ I ad
e 2, 5 oft 38 7\ & o Sadwigan @ Il aw w1 s Rar smom

(iii) IR fream g FE WeA 7@ A€ Fem st @ sl anfleaR g T T R S 2, Y @ T ¥ 8
@i gus TE fEmr smon)

W qF ATHR a8 TP GIEdT T w7 W WY 99 9% 1 @l

Note : English version of the instructions is printed on the front cover of this Booklet.
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